IPTM3840 - One chargeable event

Step 1: Compute the amount of the chargeable event gain that falls in the higher rate tax band and, if appropriate, the amount that falls in the additional rate tax band, on the assumption that the chargeable event gain forms the ‘highest part’ of total income, including the full chargeable event gain. Any gift aid payments must be disregarded, both in this computation and in the remaining steps below. In particular, in calculating the amount of top-slicing relief the basic rate band must not be extended by any gift aid payments made.

If all of the chargeable event gain falls in:

· the basic rate band, or 

· either the higher or additional rate band, 

then no top slicing relief is due. In either case, Steps 2 to 6 are not needed. 

Step 2: Calculate the ‘further tax’ due on the gain. This is the ‘Step 2 liability’ and is the total of:

· for the amount of gain falling into the higher rate band, this amount multiplied by the difference between the higher and basic rates (for example 40% - 20% = 20%), and 

· if an amount of gain falls into the additional rate band, this amount multiplied by the difference between the additional and basic rates (for example 50% - 20% = 30%). 

Step 3: The ‘annual equivalent’ of the gain is calculated by dividing the gain by N (as in IPTM3830).

Step 4: Compute the amount of the ‘annual equivalent’ that falls in the higher rate band and, if appropriate, the additional rate band, on the assumption that it forms the top slice of total income, in place of the full gain. 

Step 5: Calculate the amount of ‘further tax’ on the amount of the annual equivalent that falls in the higher rate band and, if appropriate, the additional rate band (see Step 2 for how the ‘further tax’ calculation works). Then multiply this amount of tax by N to get the ‘Step 5 liability’.

Step 6: The amount of top-slicing relief is then the ‘Step 2 liability’ less the ‘Step 5 liability’.
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Example 1 (single gain)
In 2011/12 individual has earned income of £25,000

Bond gain = £200,000 (10 relevant years). No personal allowance.

Step 1 (gain above basic rate)

115,000 in higher rate

75,000 in additional rate

Step 2 (further tax)

115,000 x 20%
 =
23,000

75,000 x 30%

 =
22,500




45,500
Step 3 (annual equivalent aka top slice)
200,000/10 = 20,000
Step 4 (slice above basic rate)

10,000 in higher rate

Step 5 (further tax on slice)

10,000 x 20% x 10 = 20,000
Step 6 (top-slicing relief)

45,500 – 20,000 = 25,500
TAX CALCULATION
Onshore Bond






Offshore Bond

25,000 x 20%

= 
5,000 (earned income)

10,000 x 20%

= 
2,000

115,000 x 40%
= 
46,000

75,000 x 50%

=
37,500 
90,500





90,500

minus



25,500 (top-slicing relief)


25,500
minus



40,000 (tax treated as paid)


         0
Total Tax


25,000





65,000
IPTM3840 - Two or more chargeable events

Steps 1 and 2: These are the same as the Steps 1 and 2 where there is just one chargeable event, but instead take the total of the gains on all of the chargeable events. 

Step 3: Calculate the ‘annual equivalent’ for each gain by dividing it by N (as in IPTM3830) that applies to that gain and then add all these annual equivalents.

Step 4: Take the total of the annual equivalents from Step 3 and compute how much of the total falls in the higher rate band and, if appropriate, the additional rate band, on the assumption that it forms the top slice of total income in place of the total chargeable event gains.

Step 5: Calculate the amount of ‘further tax’ on the total of the annual equivalents that fall in the higher rate band and, if appropriate, the additional rate band. (See Step 2 above for how the ‘further tax’ calculation works but using ‘total of the annual equivalents’ instead of ‘gain’.)

Step 6: Multiply this amount by the total of all the chargeable event gains in the tax year and then divide it by the Step 3 total annual equivalents. This is the ‘Step 6 liability’.

Step 7: The amount of top-slicing relief is the ‘Step 2 liability’ less the ‘Step 6 liability’. 

This method of computing and giving top slicing relief means that any top-slicing relief due only relieves tax at the higher and, if appropriate, additional rate.
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Example 2 (multiple gains)
In 2011/12 individual has earned income of £15,000

Bond gain 1 = 60,000 (4 relevant years)

Bond gain 2 = 120,000 (12 relevant years). No personal allowance.

Step 1 (aggregate gain above basic rate)

115,000 in higher rate

45,000 in additional rate

Step 2 (further tax)

115,000 x 20%
 =
23,000

45,000 x 30%

 =
13,500




36,500
Step 3 (aggregate annual equivalent aka top slice)

60,000/4
=
15,000

120,000/12
=
10,000



25,000

Step 4 (slice above basic rate)

5,000 in higher rate

Step 5 (further tax on slice)

5,000 x 20% = 1,000

Step 6 (Step 5 x total gains/Step3)
1,000 x 180,000/25,000 = 7,200

Step 7 (top-slicing relief)

36,500 – 7,200 = 29,300  (Step 2 – Step 6)
TAX CALCULATION
Onshore Bond






Offshore Bond

15,000 x 20%

= 
3,000 (earned income)

20,000 x 20%

= 
4,000

115,000 x 40%
= 
46,000

45,000 x 50%

=
22,500 

75,500





75,500

minus



29,300 (top-slicing relief)


29,300
minus



36,000 (tax treated as paid)


         0
Total Tax


10,200





46,200
Example 3 (single gain, dividend income)

In 2011/12 individual has dividend income of £22,500 (gross = £25,000)
Offshore bond gain = 200,000 (10 relevant years). No personal allowance.

Slice = 200,000/10 = 20,000 

Top slicing relief = £25,500 (as example 1)
TAX CALCULATION
Onshore Bond






Offshore Bond









2,560 x 10%
  =      256
25,000 x 10%

= 
2,500 (dividend)

32,440 x 20%    =   6,488
10,000 x 20%

= 
2,000



115,000 x 40%  = 46,000
115,000 x 40%
= 
46,000



50,000 x 50%    = 25,000
75,000 x 50%

=
37,500 


25,000 x 42.5% = 10,625
88,000



   

      88,369
minus



25,500 (top-slicing relief)


      25,500
minus



40,000 (tax treated as paid)


               0
minus



  2,500 (dividend credit)


        2,500
Total Tax


20,000





      60,369
Bond gains (onshore & offshore) are always treated as the highest part of income in calculating top-slicing relief (ITTOIA 2005 s 535 (4))
BUT

In calculating tax, offshore bond gains (unlike onshore) do not sit on top of all other forms of income but are lumped in with other savings income and sit below both dividends and onshore bond gains.

